Find ALL EXACT values of 6 that makes this
equation true. Give answer in degrees.
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Find the complete solution. Round to the nearest
hundredth. Give answer in radians.
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Find the complete solution. Round to the nearest
hundredth. Give answer in degrees.
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Find the complete solution. Round to the nearest
hundredth. Give answer in degrees.

Cos?0-CosB=0
(05 & (659—1) =0

¥
Cos® =0 )@59:(
- ° o 9’: O°%'3éo‘
S M Y
n

+360°n



Find the complete solution. Round to the nearest
hundredth. Give answer in degrees.
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Find the complete solution. Round to the nearest
hundredth. Give answer in degrees.

2C0s2%0 + SinB = 1
o
_ 2 =
2. (1-5m%) +S/ne =] 2 oslen | SnE1=0
& — ;z,g/r)a& Nnes =|
O = 23m 0 S VASEY

A | Co RN N
facter ints 360 F360°n

O = (Zsme-i—l)év\G-l)

5\149'—"/L Sme=|

Find the complete solution. Round to the nearest
hundredth. Give answer in degrees.
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Find the complete solution. Round to the nearest
hundredth. Give answer in degrees.
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You can now finish Hwk #28

Practice Sheet Sec 14-2

Give EXACT answers when possible, otherwise,
round to the nearest hundredth.



